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1.4 Unit Rates with Fractions
Solving an Absolute Inequality

· Start with the inequality
· Make two different inequalities
1. Keep as is
2. Keep left, flip sign, opposite of right.
· [bookmark: _GoBack]Flipping sign for multiplying and/or dividing by a negative still apply
· Both solutions from both inequalities are your answers.
· Graph
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2. Solve:

Bx-1+5=3
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1. Solve:

[x+2=7
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Solve:

[2a+1l=a+5
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1.4 Unit Rates with Fractions.

Sl oo Rk Vi Eppin Soluing e Abesits inaguatity
W=t + Star with the inequality
e oy © Make two diforent inequalites
IR 1.Keep as Is
b st i i 2.Keep left, flip
e o o =i sign, opposite of
e ot right.
* Filpping sign for multiplying
andior by a negative

st appiy.
- Both solutions from both
inequalities are your

- Graph
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